
む 年 組 番

名前 解答

問

① ②

③ ④

⑤ ⑥

⑦ ⑧

⑨ ⑩

⑪ ⑫

＝－（５４－４２） ＝－（９１－８３）

＝－１２ ＝－８

＝＋１２ ＝＋５

（－５４）－（－４２） （－９１）－（－８３）

＝（－５４）＋（＋４２） ＝（－９１）＋（＋８３）

＝＋（０＋２７） ＝－（６１－３４）

＝＋２７ ＝－２７

（－２３）－（－３５） （－４７）－（－５２）

＝（－２３）＋（＋３５） ＝（－４７）＋（＋５２）

＝＋（３５－２３） ＝＋（５２－４７）

＝－１３ ＝＋２２

０－（－27） （－６１）－（－３４）

＝０＋（＋27） ＝（－６１）＋（＋３４）

０－（＋13） （－２３）－（－４５）

＝０＋（－13） ＝（－２３）＋（＋４５）

＝－（１３－０） ＝＋（４５－２３）

＝（＋４）＋（－９） ＝（＋７）＋（－１５）

＝－（９－４） ＝－（１５－７）

＝－５ ＝－８

＝＋（９－３） ＝＋（５＋１５）

＝＋６ ＝＋２０

（＋４）－（＋９） （＋７）－（＋１５）

次の計算をしなさい。

（＋９）－（＋３） （＋５）－（－１５）

＝（＋９）＋（－３） ＝（＋５）＋（＋１５）
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